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1. LetA =1{2,3}, B ={o, 1, {2, 3}}. Determine which of the statements given

below are true and which are false: /é _ no sor (.(7 E ‘3
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3. Let A. B. and C be finite sets. Prove the inclusion and exclusion formula
for the three sets A. B. and C:

JAUBUC|=|A|+|B|+|C|—|ANB|—|ANC|—|BNC|+|ANBNC].
4. For every positive integer n. if A and By. By, Bs. - - - are any sets, then
AN (U B; ) U (AN By)
i=1
5. Find a counterexample to show that the following each statement is false.

For all sets A, B. and C,
(AUB)NC =AU (BNCOC).

(A—B)NC=4—-(BNC)
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Let A. B. and C be finite sets. Prove the inclusion and exclusion formula
for the three sets A. B. and C:
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4. For every positive integer n, if A and By. By. Bs. - b
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4. For every positive integer n, if A and By, By, Bs. - - - are any sets, then

AN (U Bi) = CJ(AmBa &
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5. Find a counterexample to show that the following each statement is false.
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For all sets A, B, and C, >
A:?L"-}\ & @ (AUB)NC=AU(BNC).

(A-B)NC=A-(BNC)
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